# SOME SUMMATION THEOREMS FOR APPELL FUNCTION OF FIRST KIND HAVING ARGUMENTS $\pm 1$ 

M. I. QURESHI ${ }^{1}$, M. S. BABOO $^{2}$, A. AHMAD ${ }^{1}$, §


#### Abstract

The motive of this paper is to find the closed forms of the summation theorems for Appell's double hypergeometric function of first kind with suitable convergence conditions, having the arguments $\pm 1$.

Keywords: Generalized hypergeometric function, Appell function of first kind, summation theorems of Kummer, Whipple, Dixon, Watson and Saalschütz.

AMS Subject Classification: Primary 33C65, 33C20, secondary 33C05.


## 1. Introduction

In the usual notations, let $\mathbb{R}$ and $\mathbb{C}$ denote the sets of real and complex numbers, respectively. For definitions of Pochhammer symbol, generalized hypergeometric function ${ }_{p} F_{q}$, we refer monumental work of Abramowitz and Stegun [1], Appell and Kampé de Fériet [3],Luke [8], Rainville [14]and Srivastava-Manocha [17].

The Appell's function of first kind is defined as

$$
\begin{gather*}
F_{1}[A ; B, C ; D ; x, y]=\sum_{r, s=0}^{\infty} \frac{(A)_{r+s}(B)_{r}(C)_{s}}{(D)_{r+s}} \frac{x^{r}}{r!} \frac{y^{s}}{s!}  \tag{1}\\
=\sum_{r=0}^{\infty} \frac{(A)_{r}(B)_{r} x^{r}}{(D)_{r} r!}{ }_{2} F_{1}\left[\begin{array}{c}
A+r, C ; \\
D+r ; y
\end{array}\right]=\sum_{s=0}^{\infty} \frac{(A)_{s}(C)_{s}}{(D)_{s}} \frac{y^{s}}{s!}{ }_{2} F_{1}\left[\begin{array}{c}
A+s, B ; \\
D+s ;
\end{array}\right],  \tag{2}\\
\left(\max \{|x|,|y|\}<1 \text { and } D \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right) .
\end{gather*}
$$

In our investigations we shall use the following standard results.

[^0]Series manipulation formula ([17, p. 100 Lemma 1])

$$
\begin{equation*}
\sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \Phi(r, s)=\sum_{r=0}^{\infty} \sum_{s=0}^{r} \Phi(r-s, s) \tag{3}
\end{equation*}
$$

provided that involved double series are absolutely convergent.
Series decomposition Identity ([17, p. 200 Equation (1)])

$$
\begin{equation*}
\sum_{r=0}^{\infty} \Psi(r)=\sum_{r=0}^{\infty} \Psi(2 r)+\sum_{r=0}^{\infty} \Psi(2 r+1) \tag{4}
\end{equation*}
$$

Kummer's first summation Theorem ([6, p. 852 Equation (1.3)] )

$$
\begin{gather*}
{ }_{2} F_{1}\left[\begin{array}{r}
\alpha, \beta ; \\
1+\alpha-\beta ;
\end{array}\right]=\frac{\Gamma(1+\alpha-\beta) \Gamma\left(1+\frac{\alpha}{2}\right)}{\Gamma\left(1+\frac{\alpha}{2}-\beta\right) \Gamma(1+\alpha)}  \tag{5}\\
\left(1+\alpha-\beta \in \mathbb{C} \backslash \mathbb{Z}_{0} ; \Re(\beta)<1\right)
\end{gather*}
$$

Put $\alpha=-r$ in equation(5), we get

$$
{ }_{2} F_{1}\left[\begin{array}{r}
-r, \beta ;  \tag{6}\\
1-r-\beta ;
\end{array}\right]=\frac{\Gamma(1-r-\beta) \Gamma(1+r)}{\Gamma\left(1-\frac{r}{2}-\beta\right) \Gamma\left(1+\frac{r}{2}\right)} \cos \left(\frac{\pi r}{2}\right)
$$

where $r=0,1,2, \ldots$ and $\beta \in \mathbb{C} \backslash \mathbb{Z}$.
Dixon's theorem( [4, p.12, Equation 3.1(1)])

$$
\begin{align*}
{ }_{3} F_{2}\left[\begin{array}{r}
\lambda, \omega ; \\
1+\lambda-\mu, 1+\lambda-\omega ;
\end{array}\right]=\frac{\Gamma(1+\lambda-\mu) \Gamma(1+\lambda-\omega) \Gamma\left(1+\frac{\lambda}{2}-\mu-\omega\right) \Gamma\left(1+\frac{\lambda}{2}\right)}{\Gamma\left(1+\frac{\lambda}{2}-\mu\right) \Gamma\left(1+\frac{\lambda}{2}-\omega\right) \Gamma(1+\lambda-\mu-\omega) \Gamma(1+\lambda)}  \tag{7}\\
\left(\Re\left(\frac{\lambda}{2}-\mu-\omega\right)>-1 ; 1+\lambda-\mu, 1+\lambda-\omega \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right)
\end{align*}
$$

Whipple's theorem( [4, p.16, Equation 3.4(1)])

$$
\left.\begin{array}{rl}
{ }_{3} F_{2}\left[\begin{array}{r}
\lambda, 1-\lambda, \omega ; \\
\sigma, 1+2 \omega-\sigma ;
\end{array}\right] \tag{8}
\end{array}\right]=\frac{\pi \Gamma(\sigma) \Gamma(1+2 \omega-\sigma)}{2^{2 \omega-1} \Gamma\left(\frac{\lambda+\sigma}{2}\right) \Gamma\left(\omega+\frac{1+\lambda-\sigma}{2}\right) \Gamma\left(\frac{1-\lambda+\sigma}{2}\right) \Gamma\left(1+\omega-\frac{\lambda+\sigma}{2}\right)}
$$

Watson's theorem([4, p.16, Equation 3.3(1)])

$$
\begin{gather*}
{ }_{3} F_{2}\left[\begin{array}{r}
\lambda, \mu, \omega ; \\
\frac{1+\lambda+\mu}{2}, 2 \omega ;
\end{array}\right]=\frac{\sqrt{\pi} \Gamma\left(\omega+\frac{1}{2}\right) \Gamma\left(\frac{1+\lambda+\mu}{2}\right) \Gamma\left(\omega+\frac{1-\lambda-\mu}{2}\right)}{\Gamma\left(\frac{1+\lambda}{2}\right) \Gamma\left(\frac{1+\mu}{2}\right) \Gamma\left(\omega+\frac{1-\lambda}{2}\right) \Gamma\left(\omega+\frac{1-\mu}{2}\right)}  \tag{9}\\
\left(\Re(1-\lambda-\mu+2 \omega)>0 ; \frac{1+\lambda+\mu}{2}, 2 \omega \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right)
\end{gather*}
$$

Saalschütz's theorem ([4, p.9, Equation 2.2(1)])

$$
\begin{align*}
& { }_{3} F_{2}\left[\begin{array}{r}
-N, \lambda, \mu ; \\
\omega, \lambda+\mu-\omega-N+1 ;
\end{array}\right]=\frac{(\omega-\lambda)_{N}(\omega-\mu)_{N}}{(\omega)_{N}(\omega-\lambda-\mu)_{N}}  \tag{10}\\
& \left(\lambda, \mu, \omega, \lambda+\mu-\omega-N+1 \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right) ; \mathrm{N}=0,1,2,3 \ldots
\end{align*}
$$

Legendre's duplication formula

$$
\begin{gather*}
\sqrt{\pi} \Gamma(2 z)=2^{2 z-1} \Gamma(z) \Gamma\left(z+\frac{1}{2}\right)  \tag{11}\\
(2 z \neq 0,-1,-2,-3, \ldots) \\
\Gamma(z+1)=z \Gamma(z)  \tag{12}\\
\Gamma(z) \Gamma(1-z)=\frac{\pi}{\sin (\pi z)} ; z \neq 0, \pm 1, \pm 2, \pm 3 \ldots \\
\sin \left(\frac{3 \pi}{8}\right)=\cos \left(\frac{\pi}{8}\right)=\sqrt{\left(\frac{\sqrt{2}+1}{2 \sqrt{2}}\right)}, \sin \left(\frac{\pi}{8}\right)=\sqrt{\left(\frac{\sqrt{2}-1}{2 \sqrt{2}}\right)} \\
\cos (\pi r)=(-1)^{r}, \cos (2 r+1) \frac{\pi}{2}=0, \text { where } r=0, \pm 1, \pm 2, \ldots \\
(\alpha)_{-r}=\frac{(-1)^{r}}{(1-\alpha)_{r}}, \alpha \neq 0, \pm 1 \pm 1, \pm 2, \ldots \\
(\alpha)_{2 r}=2^{2 r}\left(\frac{\alpha}{2}\right)_{r}\left(\frac{\alpha+1}{2}\right)_{r} \\
2 . \text { SECTION }
\end{gather*}
$$

Using series iteration technique, we can obtain

$$
\begin{gathered}
F_{1}[A ; B, B ; D ; x,-x]={ }_{3} F_{2}\left[\begin{array}{c}
\frac{A}{2}, \frac{A+1}{2}, B ; \\
\frac{D}{2}, \frac{D+1}{2} ; x^{2}
\end{array}\right] \\
\left(|x|<1 ; A \in \mathbb{C} ; B \in \mathbb{C} \backslash \mathbb{Z} ; D \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right)
\end{gathered}
$$

Proof of (13)
Consider the series

$$
F_{1}[A ; B, B ; D ; x,-x]=\sum_{r, s=0}^{\infty} \frac{(A)_{r+s}(B)_{r}(B)_{s}}{(D)_{r+s}} \frac{(-1)^{s} x^{r+s}}{r!s!}
$$

Replacing r by (r-s) and applying Series manipulation formula (3), we get

$$
\begin{gathered}
F_{1}[A ; B, B ; D ; x,-x]=\sum_{r=0}^{\infty} \frac{(A)_{r}(B)_{r}}{(D)_{r}} \frac{x^{r}}{(1)_{r}} \sum_{s=0}^{r} \frac{(B+r)_{-s}(B)_{s}}{(1+r)_{-s}} \frac{(-1)^{s}}{s!} \\
=\sum_{r=0}^{\infty} \frac{(A)_{r}(B)_{r} x^{r}}{(D)_{r} r!}{ }_{2} F_{1}\left[\begin{array}{r}
-r, B ; \\
1-B-r ;
\end{array},-1\right] .
\end{gathered}
$$

Now using Kummer first summation theorem (6), we get

$$
F_{1}[A ; B, B ; D ; x,-x]=\sum_{r=0}^{\infty} \frac{(A)_{r}(B)_{r} x^{r}}{(D)_{r}} \frac{\Gamma(1-r-B) \cos \left(\frac{\pi r}{2}\right)}{\Gamma\left(1-\frac{r}{2}-B\right) \Gamma\left(1+\frac{r}{2}\right)}
$$

Now using series decomposition identity (4), we get

$$
\left.\begin{array}{l}
F_{1}[A ; B, B ; D ; x,-x]=\sum_{r=0}^{\infty} \frac{(A)_{2 r}(B)_{2 r} x^{2 r}}{(D)_{2 r}} \frac{\Gamma(1-2 r-B)(-1)^{r}}{\Gamma(1-r-B) r!}+0 \\
=\sum_{r=0}^{\infty} \frac{(A)_{2 r}(B)_{2 r} x^{2 r}(1-B)_{-2 r}(-1)^{r}}{(D)_{2 r} r!(1-B)_{-r}}=\sum_{r=0}^{\infty} \frac{\left(\frac{A}{2}\right)_{r}\left(\frac{A+1}{2}\right)_{r}(B)_{r} x^{2 r}}{\left(\frac{D}{2}\right)_{r}\left(\frac{D+1}{2}\right)_{r} r!} \\
={ }_{3} F_{2}\left[\frac{A}{2}, \frac{A+1}{2}, B ; x^{2} \frac{D}{2}, \frac{D+1}{2} ;\right.
\end{array}\right] .
$$

## 3. Application of Reduction Formula (13) in Summation Theorems

When the values of parameters leading to the results which do not make sense, are tacitly excluded. Then

In the equation (13) put $A=a, B=b, D=1+2 b-a$ and $x=1$, use the Dixon's summation theorem (3), we get

$$
\begin{gather*}
F_{1}[a ; b, b ; 1+2 b-a ; 1,-1]=\frac{\Gamma\left(\frac{1+b-2 a}{2}\right) \Gamma(1+2 b-a)}{2^{2 a} \Gamma(1+2 b-2 a) \Gamma\left(\frac{1+b}{2}\right)}  \tag{14}\\
\left(\Re(2 a-b)<1 ;(1+2 b-a) \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right)
\end{gather*}
$$

In the equation (13) put $A=-2 m, B=b, D=1+b-2 m$ and $x=1$, use the Saalschütz's summation theorem (6), we get

$$
\begin{gather*}
F_{1}[-2 m ; b, b ; 1+b-2 m ; 1,-1]=\frac{(b)_{2 m}}{(-b)_{2 m}}  \tag{15}\\
\left((1+b-2 m) \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-} ; m \in \mathbb{N}_{0}\right)
\end{gather*}
$$

In the equation (13) put $A=-2 m-1, B=b, D=b-2 m$ and $x=1$, use Saalschütz's summation theorem (6), we get

$$
\begin{gather*}
F_{1}[-2 m-1 ; b, b ; b-2 m ; 1,-1]=\frac{(1+b)_{2 m}}{(1-b)_{2 m}}  \tag{16}\\
\left((b-2 m) \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-} ; m \in \mathbb{N}_{0}\right)
\end{gather*}
$$

In the equation (13) put $A=\frac{2 d-3}{2}, B=\frac{d+1}{4}, D=d$ and $x=1$, use Watson's summation theorem (5), we get

$$
\begin{gather*}
F_{1}\left[\frac{2 d-3}{2} ; \frac{d+1}{4}, \frac{d+1}{4} ; d ; 1,-1\right]=\frac{(2-\sqrt{2})(1-d) \Gamma\left(\frac{d}{2}\right) \sqrt{(\pi)}}{\Gamma\left(\frac{2 d+1}{8}\right) \Gamma\left(\frac{2 d+3}{8}\right) \sin \left(\pi\left(\frac{d+3}{4}\right)\right)},  \tag{17}\\
\left(\Re(d)<5 ; d \neq 1, d \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right) .
\end{gather*}
$$

In the equation (13) put $A=\frac{2 d-1}{2}, B=\frac{d}{4}, D=d$ and $x=1$, use Watson's summation theorem (5), we get

$$
\begin{gather*}
F_{1}\left[\frac{2 d-1}{2} ; \frac{d}{4}, \frac{d}{4} ; d ; 1,-1\right]=\frac{\sqrt{\pi} \Gamma\left(\frac{d+1}{2}\right) \sqrt{\left(\frac{1+\sqrt{2}}{2 \sqrt{2}}\right)}}{\Gamma\left(\frac{2 d+3}{8}\right) \Gamma\left(\frac{2 d+5}{8}\right) \sin \left(\pi\left(\frac{d+2}{4}\right)\right)}  \tag{18}\\
\left(\Re(d)<2 ; d \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right)
\end{gather*}
$$

In the equation (13) put $A=\frac{d-2}{2}, B=\frac{3 d+2}{4}, D=d$ and $x=1$, use Watson's summation theorem (5), we get

$$
\begin{gather*}
F_{1}\left[\frac{d-2}{2} ; \frac{3 d+2}{4}, \frac{3 d+2}{4} ; d ; 1,-1\right]=\frac{\Gamma\left(\frac{d+1}{2}\right) \Gamma\left(\frac{6-d}{8}\right)}{2 \sqrt{\pi} \Gamma\left(\frac{3 d+6}{8}\right)}  \tag{19}\\
\left(\Re(d)<2 ; d \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right)
\end{gather*}
$$

In the equation (13) put $A=a, B=\frac{3 a}{2}, D=2 a+1$ and $x=1$, use Watson's summation theorem (5), we get

$$
\begin{gather*}
F_{1}\left[a ; \frac{3 a}{2}, \frac{3 a}{2} ; 2 a+1 ; 1,-1\right]=\frac{\sqrt{\pi} \Gamma\left(\frac{2 a+1}{2}\right)}{\Gamma\left(\frac{a+2}{4}\right) \Gamma\left(\frac{3 a+2}{4}\right) \cos \left(\frac{\pi a}{4}\right)},  \tag{20}\\
\left(\Re(a)<2 ;(2 a+1) \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right)
\end{gather*}
$$

In the equation (13) put $A=\frac{d}{2}, B=\frac{3 d-2}{4}, D=d$ and $x=1$, use Watson's summation theorem (5), we get

$$
\begin{gather*}
F_{1}\left[\frac{d}{2} ; \frac{3 d-2}{4}, \frac{3 d-2}{4} ; d ; 1,-1\right]=\frac{2^{\frac{d-2}{4}} \Gamma\left(\frac{d+1}{2}\right) \Gamma\left(\frac{2-d}{4}\right)}{\Gamma\left(\frac{3 d+2}{8}\right) \Gamma\left(\frac{6-d}{8}\right)}  \tag{21}\\
\left(\Re(d)<2 ; d \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right)
\end{gather*}
$$

In the equation (13) put $A=\frac{d+1}{2}, B=\frac{3 d-7}{4}, D=d$ and $x=1$, use Watson's summation theorem (5), we get

$$
\begin{gather*}
F_{1}\left[\frac{d+1}{2} ; \frac{3 d-7}{4}, \frac{3 d-7}{4} ; d ; 1,-1\right]=\frac{2^{\frac{d-1}{4}} \Gamma\left(\frac{d}{2}\right) \Gamma\left(\frac{5-d}{4}\right)}{\Gamma\left(\frac{3 d-3}{8}\right) \Gamma\left(\frac{13-d}{8}\right)}  \tag{22}\\
\left(\Re(d)<5 ; d \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right)
\end{gather*}
$$

In the equation (13) put $A=\frac{1}{2}, B=b, D=\frac{4 b+1}{2}$ and $x=1$, use Whipple's summation theorem (4), we get

$$
\begin{gather*}
F_{1}\left[\frac{1}{2} ; b, b ; \frac{4 b+1}{2} ; 1,-1\right]=\frac{\pi \Gamma\left(\frac{4 b+1}{2}\right)}{2^{3 b-1} \Gamma\left(\frac{2 b+1}{2}\right) \Gamma\left(\frac{b+1}{2}\right) \Gamma\left(\frac{b+1}{2}\right)}  \tag{23}\\
\left(\Re(b)>0 ; \frac{4 b+1}{2} \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\right)
\end{gather*}
$$

## 4. Conclusions

We conclude our present analysis by observing that several interesting summation theorems for Appell function of first kind can be derived in an analogous manner. Moreover, presented summation theorems should be beneficial to those who are interested in the field of applied mathematics and applied physics.

Remark: Summation Theorems can be applied for some other branches of applied mathematics such as numerical improvement of weighted quadrature rules [12] whose residue is controllable by some new mathematical inequalities [9, 10] and classical symmetric hypergeometric polynomials [11].

## References

[1] Abramowitz, M. and Stegun, I. A., (1964), Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables, National Bureau of Standards Applied Mathematics Series, 55, U. S. Government Printing Office, Washington.
[2] Andrews, G. E., Askey, R. and Roy, R., (1999), Special Function, Encyclopedia of Mathematics and its Applications, 71, Cambridge University Press, Cambridge.
[3] Appell, P. and Kampé de Fériet, J., (1926), Fonctions Hypérgéométriques et Hypérsphériques; Polynomes d'Hermite, Gauthiers-Villars, Paris.
[4] Bailey, W. N., (1964), Generalized Hypergeometric Series, Cambridge Math. Tract No. 32, Cambridge University Press, Cambridge, 1935; Reprinted by Stechert-Hafner, New York.
[5] Choi, J., Rathie, A. K. and Malani, S., (1521), Kummer's Theorem and its Contiguous Identities, Taiwanese Journal of Mathematics, 11, (5), (2007), pp. 1521-1527.
[6] Choi, J., Rathie, A. K., Srivastava, H. M., (2011), Generalization of a Formula Due to Kummar, Integral Transform and Special Function, 22, (1), pp. 851-859.
[7] Erdélyi, A., Magnus, W., Oberhettinger, F. and Tricomi, F. G., (1953), Higher Transcendental Functions, Vol. I, McGraw - Hill Book Company, New York, Toronto and London.
[8] Luke, Y. L., (1975), Mathematical Functions and Their Approximations, Academic Press, London.
[9] M. Masjed-Jamei, S. S. Dragomir, H. M. Srivastava, (2009), Some generalizations of the CauchySchwarz and the Cauchy-Bunyakovsky inequalities involving four free parameters and their applications, Mathematical and Computer Modelling, 49, pp. 1960-1968.
[10] M. Masjed-Jamei, S. S. Dragomir, (2011), A new generalization of the Ostrowski inequality and applications, Filomat, 25, pp. 115-123.
[11] M. Masjed-Jamei, (2007), A basic class of symmetric orthogonal polynomials using the extended Sturm-Liouville theorem for symmetric functions, Journal of Mathematical Analysis and Applications, 325, pp. 753-775.
[12] M. R. Eslahchi, M. Dehghan, M. Masjed-Jamei, (2005), On numerical improvement of the first kind Gauss-Chebyshev quadrature rules, Applied Mathematics and Computation, 165, pp 5-21.
[13] Prudnikov, A. P., Brychkov, Yu. A., Marichev, O. I., (1990), Integrals and Series, Volume III, More Special Functions, Nauka, Moscow, 1986, (In Russian), (Translated from the Russian by G. G. Gould) Gordon and Breach Science Publishers, New York.
[14] Rainville, E. D., (1971), Special Functions, The Macmillan Company, New York, 1960; Reprinted by Chelsea Publ. Co., Bronx, New York.
[15] Rakha, M. A., Rathie, A. K.,(2011), Generalizations of Classical Summation Theorems for the Series ${ }_{2} F_{1}$ and ${ }_{3} F_{2}$ with Applications, Integral Transforms and Special Functions, 22 (11), pp.823-840.
[16] Srivastava, H. M.,(1964), Hypergeometric Functions of Three Variables, Ganita, 15, (2), pp. 97-108.
[17] Srivastava, H. M., Manocha, H. L., (1984), A Treatise on Generating Functions, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto.
M. I. Qureshi for the photography and short autobiography, see TWMS J. App. and Eng. Math. V.11, N. 4 .

M. S. Baboo is an assistant professor of Mathematics in the School of Basic Science and Research, Sharda University, Greater Noida, U.P., India. He received his Ph.D. degree (in year 2017) in Mathematics from the Department of Applied Sciences and Humanities, Faculty of Engineering and Technology, Jamia Millia Islamia (A Central University), New Delhi, India. His research interests are in the areas of Integral Transforms, Special Functions and Multiple Hypergeometric Functions.

A. Ahmad is a Ph.D. scholar of Applied Mathematics at the Department of Applied Sciences and Humanities, Jamia Millia Islamia, New Delhi, India. He is working under the guidance of Prof. M. I. Qureshi. His research interests are in the areas of Applied Mathematics and Hypergeometric Functions.


[^0]:    ${ }^{1}$ Department of Applied Sciences and Humanities, Faculty of Engineering and Technology, Jamia Millia Islamia (A Central University), New Delhi, 110025, India. e-mail: miqureshi_delhi@yahoo.co.in; ORCID: https://orcid.org/0000-0002-5093-1925. e-mail:ashfaqmaths@gmail.com; ORCID: https://orcid.org/0000-0003-1644-8582. Corresponding author.
    ${ }^{2}$ SBSR, Sharda University, Greater Noida, Uttar Pradesh, 201306, India.
    e-mail: mesub007@gmail.com; ORCID: https://orcid.org/0000-0002-5310-444X.
    § Manuscript received: February 22, 2020; accepted: June 04, 2020.
    TWMS Journal of Applied and Engineering Mathematics, Vol.12, No.2; © Işık University, Department of Mathematics, 2022; all rights reserved.

